Measurements and Calculations
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o What is the total number of grams of e The percent by mass of hydrogen in
Nal(s) needed to make 1.0 liter of a NH, is equal to
0.010 M solution?
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e Which 5.0-milliliter sample of NH; will o The strongest forces of attraction occur
take the shape of and completely fill between molecules of
a closed 100.0-milliliter container? Py
A LI =
( N

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

\

compound that contains water as part of its % Gt of ihe-original lsotope?
crystal structure. If the accepted value is
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e Whick heaslirementdortains @ The diagra™ below fepreschis ayortion.o
four sigmificanciures? a 100-milliliter graduated cylinder.

What is the reading =
B B of the meniscus? — W
B 0431g =
C 1003 g A 35.0 mL =
D 38709 B 36.0mL = .
C 440mL p—
D 45.0 mL —
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